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Aufgabe 1

Fiille die Felder dieser Rechenkette aus wie im Beispiel a).

a) 125 375 162 1% 181 =25 145 119 161 =2, 140

b) 53 =%, 4, 51 =8 +39, 21,
C) -§-28> —35> 50 —30> -l—'c')> —28>
Q) +15, -7, +18, o1 437, 3L g
o) A g2, 9 9,
f) 713> 729> —23/ 83 —34> 72>
) 99 24 +31 —35 =39, g5 19, +19 —1—26> —|—26>
h) -|-13> +22> =0, 163 122 +22 —l—_3>
) 100 =12 +2 g0 31, +30, 12,
J) —_39> 16 —_40> +12/ +19/ —|—35>
Aufgabe 2

Fiille die Felder dieser Rechenkette aus wie im Beispiel a).

a) 81 L g9 F3L, o5 H14, 37 =87, 100 14 11y

b) +38, +25, . 156 225 410,

o) 27, 11 2o +38, 38, £g

d) +30, +37, +39, —14 415, 101
o) +1L o7 =40, —38, +19, +12,

f) +14, +15, +3, —36, +39, o6
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g) 69 -3, B o7 25 B 3
h) 22, 9, mg 13, 14, -8,
) —~20, +19. 113 34, 45, —22
J) —37/ —1—20> —15> 98 —32/ —22
Aufgabe 3

Fiille die Felder dieser Rechenkette aus wie im Beispiel a).

a) 29 = 24 2 48 I, 59 L 70 =15, 53

by 54 *15, —4, 9, £g 13, +10

) I A T T s g

Q) —1, +8, oo 4 -5, 16,

e) 63 +13 —18 —4 54 +10 +2

£) 32 +11 2 —14, —3, +9,

9 T2 7 [ A2 20 2 o,

h) +7, —5, , 5g 10 +12

i) =2, +12, +15, —13, = =15,

j) N 2, R —1 84
Aufgabe 4
Fiille die Felder dieser Rechenkette aus wie im Beispiel a).
a) 12 2 15 =3 13 =L 12 byo—% B
c) 7 =N _1> 3, d) 13 2, 3, 3,
¢) 8 +3, -2, £ 7 220 -2,
g) 10 +2 2, 1, h) 12 3, 2, -1,
i) 12 +2> SN )10 1% A3 +
Viel Erfolg]!
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